D

—L ]

T Sl ‘@OW) SN o/a/l% du/é)&

ay: MT\\Trss

~=Sme S8

‘___Dil_tf'_______/_——],;"'——'

Y y {z@! Tprdse.

\_(QXS_#/

| fuglile (e
Tut-3

s s

ans is too short as the main exam sheet is br ]d it will

—appear—shenw
‘“’( i ﬁa(ﬂw«]/@w ?mefﬁ] N v
It s m!

G

Wlawoﬂ» L /awmo WMQJ

by commm moJAM 4 only me

/f}mfm /)vl comg /DOJME;&A CJMCy

o oot v gouone wlio G

Covieiohingds 08 v Thutyiguatotins Yo

Alnoﬁaﬂ ., D&H’M hosa Jdﬂ,&ahﬁ’u

Where a3, 0 commen moun s fro

U meﬂuuf Tl e | hoel

These adbribias Aﬁquﬁﬂ ofobd) et

hido it ok B 2uilit
senterjce start is incorrect start with a an the
7@1‘04%)% M nﬂ.&o Aaw/ m;ﬂ,;
f)/MW SL %W—L M ')m

T2 W(Juaﬁ ' doitie oo }gq majw,\q

B

Ou Mla bmuﬁ?ui’ a«w/ M%


ans is too short as the main exam sheet is broad it will appear shorter 

sentence start is incorrect start with a an the 


oéu g bul” otso 2t w(o/ 20 ¢ dowdd b,

9 m,ﬂ fosle » flivae 40477, 4

.ezu Maf O{D Qa/ol"
base clolottion ) i\%@%ﬁ\

Ak sbapes mm& st Lebe acfrony

aAL S(AM\QJ bu m fM:ﬂ@L

.u,jé) 0\.0.»\-0., 'Ed MQ’H /Lllf P

ofo;ecﬁ ol an%/uf DMULMQ_ I(MV_

OA mmb m va/&d %cﬂ')a

ans ¢

8/20

Sfdecﬂ watho Wt AQJMC.S ﬂws
()' Ampﬁ ﬁ-af MaMﬂCE hmc}fezaﬂ

re satisfactory

:TFL’#““@“M fsa Jaf/ Lijteg
Bitual 5 ;ﬂr

verage content



ans are satisfactory main ideas picked 
over all average content 
8/20




